CANCIEs 2 A T R i /MRy R M e =

ToP8—%cZ& (H+)

SMAESHTH ()

Kaxa— K

22 12 3720

Efie
iz

Petp Ttk LBt e
(—) THERE LB e

NPOIEAN Bt AR — YV He

TR O BN A B BEH = — R 122060 TE e rmibe EEE S
A fEH 17 2% 3L 47 507 6{\, 7L S
5/7 14£100m P WizE (1) 13.46 FEWE ¥ (D 13.50 | A fEdE (1) 13.65 RO  (1) 14.01 | Pl fedE (D 14.37 | IR BEK (1) 14.39 | AR f&Ek (D 14.42 | B BB (D 14.69
= (-1.1) Fapu e (0.0) At (-0.9) | mLF (0.0) | By EHFFHF 0.0) | HrkarH (-0.9) | BFHFEEH (-1.1) | mEFLT (-1.1)
5/1 24£100m FHEI AR 2 12.18 | JIUE K (2 12,44 | FHE &H Q) 12.47 HA & (2 12.88 | Lk L (2 12.59 |mAH ®A () 12.61 | AT K (2) 12.62 | ¥E F{= (2 12.67
BFRT- (-0.1) | $orn=r (+1.0) ‘a4 (+0.1) | P (+0.7) | BEHARP (-0.5) a4 (-0.6) | HHEHAP (-0.8) i (-0.2)
5/1 34E100m ANER (3) 1143 | vy 7o~y (3) 11,61 | EBE] WERE (3) 11.78 | K EEF (3 11.89 | Ak &R (3 11.96 | $REE IKE (3 12.00 [{EH EZA 3) 12,07 |7) =i K () 12.07
FAF LA (+0.1) | BJFHF (+0.1) | TR (+0.1) | SR A H (+0.6) | tajF—rf (+0. 1) | HkaT R+ (+1.8) | RN (+0.1) | Kty B (+1.6)
5/7 F3/200m AW AZE (3) 23.22 | AWM BEA () 23.72 | ¥ & () 24.19 | bk @i (3) 24.41 | KEE BE (3) 24.61 | L B (3) 24.63 |{HEE FEKER (3) 25.41 | EM RHE (3)  25.45
AP H (+2.4) | /R (+2.4) | /IEREH (+0. 1) +p (+0.1) a4 (+1.8) | BAF=rp (+2.4) | KRR (+2.4) | BHRTH (+0. 1)
5/7 F3/400m WK B (3) 55.75 | JRME £ (2) 56.68 it EE () 57.37 | TR R (3) 57.96 | i EA () 58.37 | fRd& Fpk (3) 59.38 |4 MES EE (3 59.58 | L¥ 3B (3) 59.65
W= B FEAN /N /N B FEAPN M=
5/1 J£3H800m JI AEE (2) 2:04.97| s B (3) 2:05.84| HEF (3) 2:11.99| &0 WHE  (3) 2:12.08| AL ANE  (3) 2:13.35| U &3 (3) 2:13.52| kB K& (3) 2:15.44| /Mk BHEE  (3) 2:16.06
AR W S m = BT AN Lkl Wi Wi a4
5/7 14£1500m B3% BEVR (1) 4:42.05| 50 4 (1) 4:50.54| il HEA (1) 5:24.37| MEIL ML (1) 5:34.35) +48 W5 (1) 5:39.29| /A EEH (1) 5:53.60( M K (1) 5:54.99 W OGEE (1) 5:57.67
B P 3 i g T H g B F P 3 i e P
5/7 H381500m i (3) 4:22.06| JUA 24 (3) 4:22.99| ME MK  (3) 4:23.76| £k PUEE  (3) 4:24.99| AWlF FH 0 (3) 4:25.64| REH FHE (2) 4:26.26| TR EKE  (3) 4:27. 11 I KEE (2 4:29.00
g A — LSE4E +r Lkl A RE Kty L Frka T
8/7 H£3#3000m Ty (FHE (3) 9:03.78| B 5 (3) 9:05. 15| FHH Bz (3) 9:10.73| KB B (3) 9:12.20] U AAK (3 9:18.30) mE 0 (3) 9:20.22| #M HiME  (3) 9:30.22| 1EHE Mk (2) 9:30.45
A VS Hrive AIFF T B US4k T E O fifi
5/7 381 10mH B B (3 16.29 | I KE OB 17.29 | HL Bk Q) 17.34 BRE & (3) 18.29 | Kk f&th  (3) 19.15 il g€ (2) 19.28 | [l FRE (3) 20.03 | AME BEAF  (3)  20.08
(0.914m/9. 14m) | S =rp (+0.7) | FAAFEH (+0.7) | RN (+0.7) Wi (-1.0) | /eFa (+0.7) | AL (-1.0) | #F—r (-1.0) | REZ T (+0.7)
J£3H4X100mR FAF LA 44.85 | MRANTA 46.09 | /NEFTA 46. 25 EHA A 46.42 | AT NHA 46.68 | FrfrT-HA 46.76 | HHA R A 46.93 | 8t A A 46. 93
(=9 )] TR EHE @ An Bt ®) mAE EA (2 AR BRI (3) BB BEME (3) INEE &R (3) PR OB )
5/7 Nty T4 (3) &l e ©) gL &8sk (3 KEF & 3) WER ik () FHI K (@) [73 S ©)) HAK RE 3
TFHE AR B Rl mk 3 FRE BEA G HH &R (@ Sk AN B BEH OfFE ) Ve R Fixk (3) FiE A (@)
SRR (3) i HEE () FHE R (3 W e (3) W E2 A (3) A W (2) i)l KE () W Jed (3)
5/7 5 7 v Bk FHH 8 (3)  1m70 AE R () 1m60 | FIM JekE  (3)  1m60 B BE (20 Imb5 | ARER MUK (2 1mdb
P a4 FE S P JE 1L [eEiki
5/7 e A i Bk MR BEE (2) 6m01 | FHN KFn (2)  5m64 WIE P (3 5mb8 | sV EEIE (2) 5m50 | I AEE (3) Sma3 | AR H Q) md2 | FRE CRE 3) 5m20 | /NEF HEES (3)  5ml8
i (-0.7) | WHkHT (+0.3) | WAFHp (-0.8) A (-0.6) | TR (-0.3) | #PH (-1.1) | /Merf (-0.7) | ko =rh (-0. 4)
5/7 EESGiTblEis ARyk FSE (3 om6l | EER VESF O (3)  8m60 | HiAE AT (3 Sm34 | EHIEE 2k (3)  8m26 A W () Sml2 [5)BEF HEE (20 S8ml2 | P ME (2 8m09 | JIAS EERE (2) w7l
(5. 000kg) AF AR A AT INEFE R Wi FE S Fr B i
TS5 RarT 4 a
F A ) ERA i (°C) T (%) JEL 1) U (m/s)
2022/05/07 |09:00 =3 16.0 67.0 Bl 1.1
10:00 =3 21.0 58.0 Bl 0.2
11:00 = 23.0 55.0 a3 0.1
12:00 A 23.0 55.0 FE 0.1
13:00 55 20.0 65.0 A 0.1
14:00 55 22.0 62.0 B[ 0.1
14:10 55 22.0 62.0 B[ 0.5




